09 e Ao A E

H ©f 64 3H 1H
= Sf 74 2H28H

Kt —THG6 —15EHRAENL401 5

— I R N R = A A R B R B



—RAEEASEERSFFREFRER

B & ES) R &
4M 7€ 28 288 R#E
(HfI : M)
# = & &

| BEEDOE

1. RE&EE
& B £ 4,065,503
CIRE N 414,376
mENEEST 4,479,879

2. EEEE

(1) EAXRBE
EXEHES 3,001,173
EXMEST 3,001,173
(2) zotEEEE

t % fEF m 1
ZDEEEESE 1
EEEESH 3,001,174
BEOSMAH 7,481,053

I BEDE

1. REEE
KRIHEWE 552,600
wEARESE 552,600
BEFE oA 552,600

Nl IERREAEDER

1. —RRIERKRRAE 6,928,453
IERkBtE DA 6,928,453
EERUVEKMESE 7,481,053




—RMEEANEZERSFFRFRER

IE &% B E 8 B 6 & &
B #M 6% 3A 1H
E 4M 74 2A28H
(BfI : [)
= B &
I —fi 1E Ik B4 2 1R 0D HB
1. BEBRBOR
(1) ®BEINZE
m 3B £ W A 2,330,000
B K £ W A 2,721,880
X £ Ix A 41,393,400
= HX gl B 3,242
i Ix A 180,000
® B % 46,628,522
(2) BEEXRRM
PN = & 26,333,573
BEEERM 26,333,573
’”OE % B % 20,294,949
(3) BEEH
®” B T ¥ B 7,027,655
® B8 % B B 14,177,174
B ®E B R AF 21,204,829
LHRBREBERE A 909,880
i5 | 5l 2§ HA —fix 1E bR BA EE YRR RE A 909,880
EAT, ERBRRUEEHR 0
% HA — AR 1E bR B4 EE YRR A 909,880
— iR IERBAERE RS 7,838,333
— iR IERRRA EHAR TR S 6,928,453
I EWMERRES 6,928,453




